Math 143
9-26-11
Exam 1 concepts most in need of revision

1. Complete the following two logic rules for negating a boolean expression:
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6. Let 
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 denote the empty set.  Write out the following sets by listing their elements between curly braces.  If a set has no elements, you may write “
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” or “{ }”.
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d. 
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e. The power set of {1}, 
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8.    Let 
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, and 
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.  Give a careful, detailed, step-by-step proof of the following statement:  A is a subset of B.  Use the outline we discussed for proving this type of statement.
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